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e oRT mIe (PR, AR0FRL BI)E AmVIs/C o SFo

D ™

2B SRedA.

8,003 Ben 20008 TR FoIR[en ISRTTONTIZTE. TWHT SET 3,03%
InFeso?

P 2OBARE  GTT  ToOAT  WQBAERBNY IBE IR

O3RRTD 20, TRNTTH?

Sadny  3edR QeI (Froth-Flotation  method) 3O RoowFos
(depressant) (NaCN) T TIIe?

ns?np® SEHT SMARY £T0 IR IRIBY 'd" D OB T
©ROT BITTY W0

TPUFEER B,88,030030 TRNT, FAEFTITR) LTCW0.

FINT T0e3TETY LOTO3RENATOR T,83, 03539508 ‘A’ C3RF)TO?

R - COOH—2 R - CH,0H

10) SRR DERQOIT FRT30WB JIFACHFT TIWesSS (pernicious anaemia)

Brensy) WIIT?
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Wwn-B

83 3UNT CINJYTRTTR DT JINIR WF0R T38RO TN 2 WoINTRD
TROOTITT. (5x2=10)

11)

12)

13)

14)

15)

16)

OeHOD0 CReET ToFeodT 3 (Body Centred cubic) & Se3odd 2023
00z 352 pm &NT. DeQodo SReBT mocjzo&dg e3§ T8, [B323 : DeHEDOT
o= 828 = 7 gmol |, Na = 6.022 x 10~ Atoms mol ™ ].

T,0BS Q3o LTLQPRT @oﬁdod@ QBRRA.

0GR, BFS $0IRINAF (pseudo-first order reaction) womdeRd? wowd
wm%d%oﬁodg 3naR.

85 FINIZYNERY Dey Terd TOTOL0?
) R0BIRONTRYN0T BIZROWT R emegairsa ééﬁ@o BeRNTS. (1)

i) Qaecd Torte F2eod FoBTorE Fersodd WRdNE TTBREDT )
ABRIONTOZS. (1)

B 80300 ANOETTEEROON DTOR.

BoOTBET B BORXWE RReBOD0 DB B @ $,03003080
-3} > 9 > 8 IRk - - <
R0eFTeaTRoOT B0, B4 303003050 BIOA.
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17) i) <.T°L00RIT IRWFF (anionic detergents)nFomdes? (1)
i) ©@TTY 25,05 (saccharin)s TIFeso? (1)

18) 35 FENIYNLT 2.0T0 w&d::&rﬁa 3RE

i)  NErldecns BIO (1)
i)  TITodod deesy AmeoERD (1)
Wwn-C
Il 83 FINTZNYO_ CIRRTTUL DT TINVR 0o, Todeomd IS 3 LoFnvdd
: )
BRoDTIT. (5 x 3 =15)
19) a) QTQIERT LTHLOE LLLRIVCI0T NTZTHOLY
) 2.t30 dred §,0300D30 WID. (1)
i)  BodRers HI[e? (1)

b) [rcB (Mond's)s QGRRCT BODEFURCHMOT SRIBRITS BROA. (1)

20) ERERCINTTS YUTVORT BT S ST wode: (Flow chart) &3023 RuR
38T © 33&:1@ LITOBROTT wbéérﬁﬁ’;‘@z TBACTOETRCON W3BCTS0.

For More Question Papers Visit - www.pediawikiblog.com



For More Question Papers Visit - www.pediawikiblog.com

34 (NS)
21) a) w00 IRR.
) H,OR wowss wep v <ot H,S i clniy. (1)
i) e HS0, wgck Sxrdestsmena. (1)
b) TeRTT v (H2803)d?3?'&1:;ﬁ:‘ 20C300. (1)
22) 33 FENT ToRODRT :ﬂaaefdsed;g TPEFRRTR0.
i)  NHy+3Cl, > .....+ 3HCI (1)
Excess
i)  Na,SOj, +2HCI — 2NaCl+H,0 + ... (1)
i)  Br, +3F, —>..... (1)

23)

24) i

©OORT PRS00 FER WD WWHORBY BBITNTIT
IROTLNAT TITROIB #meédsar{e;»; A elovble)
©20302% R000FRFCTTe0? (1)

RCBROED CREENAYY  wgod Bert [FFIAYS CINRFYTRTTE STWE

@dr@ﬁ@:&i Q. (2)
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25) a)  K3[Cr(C,0,);]%m8 IUPAC 23R wicid. (1)

b) [Co(NH;)3(NO,),]8  Fedowes (facial) re  oeddcieses
(meridional) TERoNMYED TR0, (2)

=

~ (o8]

26) S wog ApoT (VBT)E wmmdhed [Ni(CN),J*  weemmonsn
QSeer(Il) SodRaE Teddes, 23,808 TN F208eCD rbsarﬁ%?sﬁ:: WO

[323: Ni 3 Zo=mee 8 : 28]

Wwn-D

0

2 S9NS oRRTan Suedh SPrer ugon. BIodeomd FFokw 5 LodndRy
BRODTIE. (3 x 5=15)

27) a) RoDFedIT I (FCC) T Zosoom dﬁe’o:bsi (packing efficiency)
SBT3 . (3)

b) Fover (Frenkel) S/TE 20TBe? vB8 PoTIH Foeed &3
TOEROF 9 (2)

28) a) 31 ™o. RRITT @mdmt;ﬁrd;ﬁi 500 To,0 eOTQ FONIRNG. YTO0T
WOBOIB WD PPIRT Vo0 2714 K ©sAD. B Iords
OEOTFHTODR) SFTs. [3ZF 1 2603 K S ©es=1.86 KKgmol ™',
0T Ty 838 =273K]. (3)

b) %080 ©ITre 0BT 20T UTOIRENZI S9R. (2)
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29) a)

30) a)

b)

31) a)

b)
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34 (NS)

RET - oo ¢ (Lead - Storage battery)3Q Scdoss 3,030
BT 02 9089 R[NY m’@oeédmﬁa’i W3000. (3)

s 3R irawobd weédrcﬁe‘) BRe3g0d003 298 K 3Q ArG’ 23@033333
Uga@—aé.

3Mg(s) + 2Al (> 3Mg o+ 2Al )

[3Z8; Eypy = —2.36 V, Ej =—1.66 V 3023 F = 96487C]. (2)

TP JOIRVNFT  CoRCRIT oL wRBRT T3 2008
AD0eTTEOTT) AR, (3)

o =2

2,00 30D JOFF FoinBena BIIRI 30°C 008 50°C IISK
WEROVATRN Fo3RSensy 122onrore (quadruples) TS, B
803005 TeaTTEd BHOWFY 58 ot [3Z8: R=8.314 JK 'mol "] (2)

SER 0308 Ben=3rD(Shape selective catalysis)aﬁs;ﬁi 339,803, R.
TERO0De  TIRFICRY wlRmRe S mARDD  Iom3rIk

BodReNTOS o odRedes deﬁaﬁcﬁréd@t TROA. (2)
BB ROTITERO? 2,080 YVINTTH ERE. (2)

BoReF LRZRCRT RSReRg (Freundlich adsorption isotherm)c:
neadned (expression) wBo0. (1)
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35) a)

36)

37)
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CH3NH, &30 CeHoNH, 7¢ 3T cdnmycd &t Sze.03080?

~ 4 n <

o
0 LG (2)
) =~ Py =) 255 Ao )= — s e P
) ©wOE =Caimmds KOH =02y ipcdremmarem  #303R

L8 c vt 2 <
RN e e e EENT = Do
FoOICATISN GUOERTICR TES280 Y30 TRVA. (1)
=’

i) (CH,),N—C,H: T IUPAC &=z, (1)

FPNT ToROIRT 303000070 Freer e,
CH,CONH,, - Br2/NaoH (1)
TRERT D TITE (Haworth) dwf'*“‘a’; WTOL0. (2)

of{nIOLN :ﬂ§c§ 203320 OX0EFT TIBREFITS TIOL (1)
: « - %
20T0- N =0 et ScrRozeLO? :q’:pe%drdw B, (2)
Ci
?:J: 0T°-6,6 D j..“w.c,G:SDUGﬁ%'J’FL BHHOR0. (2)
NURRLTT TORT R CTTens? (1)
[
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Instructions : 1.

(English Version)

The question paper has four parts. All parts are
compulsory.

Part-A carries 10 marks. Each question carries 1 mark.
Part-B carries 10 marks. Each question carries 2 marks.
Part-C carries 15 marks. Each question carries 3 marks.

Part-D carries 35 marks. Each question carries 5 marks.

Write balanced chemical equations and draw diagrams
wherever necessary.

Use log tables and simple calculator if necessary. (Use of
scientific calculator is not allowed.)

PART - A

Answer all the questions. Each question carries 1 mark. (Answer each
question in one word or in one sentence) : (10 x 1 =10)

1) How does the size of blood cells change when placed in an aqueous
solution containing more than 0.9% (m/v) sodium chloride?

2) How does the volume change on mixing two volatile liquids to form an

ideal solution?

3) Draw a graph of Am V/s+/C for acetic acid (weak electrolyte) solution.

4) Unit of rate constant of a reaction is same as that of its rate. What is the
order of this reaction?

5) Among physisorption or chemisorption which one has higher enthalpy of

adsorption?

6) Whatis the role of depressant (NaCN) in Froth-Flotation method?
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7)

10)
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Name the noble gas having ns? np® electronic configuration but does not
have d-orbitals in its valence shell.

Write the general equation for Wurtz reaction.

What. is the reagent ‘A’ used in the following equation?

R-COOH—2 R -CH,0OH

Which vitamin deficiency causes the diseases pernicious anaemia?

PART -B

Answer any five of the following. Each question carries 2 marks : (5 x 2 =10)

11)

12)

13)

14)

15)

16)

Lithium metal has a body centred cubic lattice structure with edge length
of unit cell 352 pm. Calculate the density of lithium metal. [Given : Atomic

mass of Li=7 gmol™, N, =6.022x10%* Atoms mol™].

State Faraday’s second law of electrolysis.
What is pseudo-first order reaction? Give an example.

How will you account for the following?
i)  Actinoids exhibit more number of oxidation states than lanthanoides.

(1)
i) Atomic radii of second and third transition series elements are
almost identical. (1)

Explain the Kolbe’s reaction with equation.

Write the equation for the reaction between benzaldehyde and
concentrated NaOH solution. Name the reaction.
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17) i)  What are anionic detergents?

i)  Whatis the role of saccharin in food?
18) Give one example each for the following.

i) Antifertility drugs.

i)  Narcotic analgesics.

PART - C

Answer any five of the following. Each question carries 3 marks :

19) a) In the extraction of Aluminium by electrolysis,
i)  Write overall cell reaction.
i) Whatis the role of cryolite?

b) Name the metal refined by Mond's process.

(1)
(1)

(1)
(1)

(5x3=15)

(1)
(1)
(1)

20) In the manufacture of ammonia by Haber's process. Write the flow chart

and chemical equations with optimum conditions.

21) a) Givereason :
i)  Hydrogen bonding in H,O but notin H,S.
i) Conc.H,SO, is a good dehydrating agent.

b) Give the structure of sulphurous acid (H,SOs;).

22) Complete the following chemical equations :

) NH; +3Cl, —>.....+ 3HCI

Excess

i)  Na,SO, +2HCI — 2NaCl+H,0 + ....

i) Br,+3F, —> ...

(1)
(1)
(1)

(1)

(1)
(1)
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23) Write the balanced chemical equation involved in the manufacture of
potassium-dichromate from chromite ore.

24) i)

25) a)

What are interstial compounds? (1)
Transition metals show good catalytic property. Give any two
reasons. (2)
Write the IUPAC name of K,[Cr(C,0,),]. (1)

Give the facial (fac) and meridional (mer) isomeric structures of
[Co(NH;)3(NO,);]. (2)

26) With the help of Valence Bond Theory (VBT) explain hybridisation,
geometry and magnetic property of [Ni(CN)4]2" tetracyanido nickelate (II)
ion. [Given : Atomic number of Ni = 28].

PART -D

Answer any three of the following. Each question carries 5 marks :

27) a)

28) a)

(3 x 5 = 15)

Calculate the packing efficiency in Face Centred Cubic (FCC) lattice.
3)

What is Frenkel defect? What is its effect on the density of a solid?

(2)

31 g of an unknown molecular material is dissolved in 500 g of
water. The resulting solution freezes at 271.14 K. Calculate the

molar mass of the material. [Given : K, for water = 1.86 KKgmol ™,
T of water = 273 K]. (3)

What is reverse osmosis? Mention its use. (2)
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29) a)

b)

30) a)

b)

31) a)

b)

c)
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Write the equations for the reactions taking place at anode and
cathode in the Lead-storage battery. (3)
Calculate the value of ArG’ at 298 K for the cell reaction.

3Mg + 2Al oy —> 3Mg Gyt 2Rl

[Given ; Ey, =-2.36 V, E =-1.66V and F=96487C]. (2)

Derive an integrated rate equation for the rate constant of a first-
order reaction. (3)

The specific reaction rate of a reaction quadruples when temperature
changes from 30°C to 50°C. Calculate the energy of activation of the

reaction. [Given : R =8.314 JK 'mol™]. (2)

Define shape selective catalysis. Name the Zeolite catalyst used to

convert alcohols to gasoline in petroleum industry. (2)
What is peptisation? Give an example. (2)
Write the expression for Freundlich adsorption isotherm. (1)

Answer any four of the following. Each question carries 5 marks : (4 x 5 =20)

32) a)

b)

33) a)

b)

Write the equations for the steps involved in the Sy1 mechanism of

hydrolysis of 2-bromo 2-methyl propane . (2)
i)  Name the product formed for the reaction of isopropyl iodide on
alcoholic KOH. (1)
i)  What is the condition to be satisfied for a compound to be
chiral? (1)
What is racemic mixtures? (1)

Explain the mechanism of acid catalysed dehydration of ethanol to
ethene. (3)

How do you prepare methoxy ethane by Williamson’s ether
synthesis? (2)
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34)

35)

36)

37)

a)
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How does benzene reacts with acetyl-chloride in the presence of

anhydrous AICIl;? Give equation. (2)
i)  Write general equation for esterification reaction. (1)
ii) Name the product obtained when benzoic acid is heated with

ammonia. (1)
Name the reagent used in the Clemmensen reduction. (1)

Between CH3;NH, and CgHsNH, which is more base? Give reason.
(2)

i)  Name the main product when aniline is heated with alcoholic
KOH and chloroform. (1)

i)  Give the IUPAC name of (CH;),N - C,H-. (1)

Complete the chemical equation.

CH,CONH, —22NeOH (1)
Write the Haworth structure of maltose. (2)

What is peptide linkages? How many peptide bonds are present in a
tetra-peptide? (2)

Name the hormone which regulates blood sugar level in the body. (1)

How is Buna-N prepared? Give equation. (2)
Name the monomers of Nylon-6, 6. (2)
What are thermosetting polymers? (1)
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